1 - 1 JfRIE3HEE
— Z%FR R
I 2% &K

NFERYIERIEE TSRS % &,
B S RAM, WHRBIHHLKHERA
[, XWiRiesimdrHEE (EA, &, BR)D

2 JRR

INRBATH K —YMERIZS), T A] DA RS H
KRR IT R IZ B I, HAY RYMERI
ZNAEAE, BATHAT AR IER— N AERE
R (BRI RD RAEE . CF3, KilE)

R R 22l ﬂiﬁh%ﬁ’ﬁﬁ’ F AR AL B P A
e! EH’]?Ej‘jT RN R EZER , A%




= MNEBERE ZBIHHE M
1 MNMERE

B € R R PR — I ZI7E
/ﬂé*ﬂ?/\:iﬂg4iﬁm%$5§$b
'ﬁzﬁ%ia fﬁﬁ J\’_Lf’ilf‘

F=xi +y] +zk
R 1L T kARIAx Py z
7 1 1 B R

frRy HIES




1 - 1 JfiRIEsIH#ER
VR ¥ I AR
Fcosa = Xx/r
cos f=y/r
~cos y =z/r

2 BEHE

7()=x()i + ()] +z(Ok
~x = x(1)
SEN S V=)
-z = z(1)
HESH T B




Zy ORI E CYAVAER /r\ﬁu%% F A4,
!l‘“ﬁAT‘“ﬁ =9 WJ“ﬁﬁ%&ABﬁﬁ)ﬁA 2| B Y
, %%#Ar ui[%%g_ﬂ_%l




1 - 1 FAREsiifmd
X Fy=xa+y,)
g =Xgl +YypJ]
AF =(xp _xA)7+0’B —J/A)j
=R =428 Fissy,
MEBE AR Oxyz FHAL
BN

AF = (xg =X, +(yp—y4)] +(z5 — 2,k
BHAAA  |AF =y Ax2 +Ap2 +AZ
s i RSERRIE ST R K .




1 - 1 JfRIE3HEE
M B 7
A) WY RBREES

Bl HL B HIZEAL, 5B TER,
HRE Tl R KR AL E.

B) R T E3IHIRE
YR

A7 = Axi + Ayj + Azk
AF| = A+ Ay + AL

AF|# Ar /R
A 2




(B) —KiFo, Ak

RINANGE

(A PP, FSEIMIERE
RAME— (], TTDUR As As
TR A T RWe— .

~BRAE.

(C) HatEiL|AF| = As?

‘Af‘ % AS

AR AN ELIET; %5 Ar - 0 B [AF| = As .
(D) MBRER, BRRIFRE




AAtHTIEW\] R R
ABFE| R B, R AN

Ar =r(t+At)—r(t)

At BRI, 5 P 2 B

_ AT A Ay
O=—=—"1+—"] 0
At At At

B D= UZ-I—Z)y

FEIEE U

]
SZ:[{)JﬁJFEFj(/J\ "0 \/() + (



1 i RIiss R
2 BB EE

2 At — O B335 B A FRAE PY 505 e
i R

Ay dr
= lim —=—

At—0 At dl‘

Ax Ay -

= lm —i 4+ IIm —=
At—0 At At—0 At

CSA

d¢
LRI, B AR
%mw%ﬁm




HIH,

: . dz -
=—Ii+—j+—k
dr dt dt

B D IR/ RN

v=[0]= \/(%)2 + (%)2 + (%)2



A IR B B AL

B dr
B) —
d¢

dr, dy,
Y (D) \/(dt) +(dt)




Bl1 WREESHER r@)=x®)i +y()],
He x(f)=(Im-s )¢ +2m, y(1)=(Em-s72) +2m.
(1) KRt=3s FHHEE. 2) ERFEAKZEsFEE.

B () BHERWNEEESTEDHN

TEEN =(Im-s)i +(1.5m-s™);

EED B5X MZEREA

6 = ar(:tanl—5 =56.3"




x(#)=(m-s™)t+2m
y(t)=(EFm-s?)? +2m

BINTTEHESE  \I/NETTEN
y:(imfuz—x+ﬁn

(2) BEHE {

7B}




1 - 1 JiRBE3IHIR

B2 WEFR, A. B FEWEE—KA | ORI
WA, A. B DRI HE AT ek
ADMEEEE 0 [AEIT, X a=60", WKBH
HENE D ?

W ENLARAR R y
YIHEA HIIE







2)  (BERSD nsEE

. Av do
Im—=—

dt




TNz

I3z

do _ 4’7
dt’

F /N a= lim M
At—0| At

a=ai+a,j+ak

I3z

LGN
a= \/aﬁ +a+a;

do . dou, .

= [ +— ]

d¢ d¢
— \/ai t+a;

X




1 - 1 JiRBE3IHIR

| b \A@\%Av 1 2

s

AT = B(t + At) — B(¢)

AD| =
0b L

H

o(t + At)— ()

H oc = oa

Av =cb

AD =ac+cb =A0, + A7,

T 7 [F) A AL

i RN







BN PR 1] il

LR &

FEATINE

R RHIIE3) 7 12 W] ARG B RAEAE

B

L0 5 = ISR B DA R AT 46 3

B, AIRERERE&E

LOE -

B HE .

RT

ECHE -3

FEFI#] 46

108




1 - 1 fRBEIH#R

B3 H —PBREAER AR
N o,=10m-s7)j, BHINEEZERNG=(-1.
| (1) & ﬁ//"HTIEﬂ):—IHWAjSVJ\fﬁE/*
(2) WEREIEIFILIBFIETZ,




1 i RIE 3Rk B— B\ REBI

] 1
K 10
t/s

0

v,/100 | v,/1000 | v,/10000

4.6 6.9 9.2
9.8995 | 9.9899 9.9990






